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p ( Equation ofa Lil'lﬁ) Slope Intercept: L2S5 N
Part-A
Write the equation of the line whose slope and the point through which it passes are given.
Express the equation in slope-intercept form.
N (39 _ 2 (L l) -
(4, 2) and slopem =5 (6' 5 and slopem =3
3) (—1, —%) and slog \d slopem=-10
Gain complete access to the largest
5) (% -7) and siopffCollection of worksheets in all subjects!fisiopem =3
Not 3 member?
Please sign up to
3in complete
dccess,
1) Find the equatio slope is 4.
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2)  Find the equation of the tangent whose slope is -6 and touches the circle at the point (% —1).
- J

Printable Math Worksheets @ www.mathworksheets4kids.com



